
-fime: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, ckbosihg ONE full question from each module.
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(08 Marks)
(06 Marks)

(iv) Tolerancc
(06 Marks)

(14 Marks)

(14 Marks)
(06 Marks)

Fourth Semester B.E. Degree Examinatioh, July/August 2022
Mechanical Measurements and Metrology

499.9991mm. Also, it was fotind that
Lo = Lo +0'0001 mm

L" = Lo + o.oooS,mm ':i

L, = Lo - 0.0002 rnxn

and Lo +Lo +I-r5 +L, = L+0.0003 mm

Determing:La;,Ls, Lc and Lo
c. Define a,stahdard. Write a note on wavelength standards
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Module-l
Explaininternationalprototyp.-etffi*tsketch.(06Marks)
Four length bars A, B, C and D each having a basic length 125 mrn are to bc calibratcd using
a calibrated length bar of 500:,,mm basic length. The 500 mm bar has an actual length of
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Explain sine centre with a neat,sketch. (06 Marks)
Explain the principle and construction of Auto collimator with a neat diagram. (14 rVlarks)

Define the terms :

(i) Limits (ii) Fits

]Iodule-2

(iii) Fundamental deviation

Determine the actual dimensions to.lie provided for a shaft and hole of 90 mm size for I{sCq

type clearance fit. Given Diameter tt.pi ur. 80 mm and 100 mm,

(v) AllowanGg,,, (vi) Basic sj2e

Module-3
Exp lain To o lmaker' s miCrsicope *iif,iGTlf, etch.

Define Best Size Wire. Derive an expression for the same.

i = 0.45 VD*0.00lD,
Value'of tolerances for IT8':* 25i and for IT9 = 40i

and ,Fundamental Deviai'ion''for 'C' type shat F.D = - 1 I Dn 
o'

and also design the GO,,,ahd NOGO g&uges,, considering wear allowance.

OR
Explain the qonstruction and wolking'of Sigma Comparator with a neat sketch. (10 Marks)

Explain Solex Fheumatic Compariitor with a neat sketch. (10 Marks)

: ,.':. OR
6 a. Explain the measurement of gear tooth thickness using constant chord method. (10 Marks)

b. Explain the Gear tooth Vernier Caliper with a neat sketch. (10 Marks)
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Module-4
ffi

Explain Generaliaed measurement $y$remwith a

Definr ; (i) r:fucutsey (ii) :Srecis,iqn, (tii),,1

Defite Transfer Eflicier,my. p4plain I
Classiff Transducers. Exp;lsii+ R$s,istilre

2,,af 2

tfysteresis

with a neat sketch.

with a nsat sketch',

explain.
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(12 Marks)
(08Marks)

(07 Marks)
(13 Marks)

(12 Marks)
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(10 Marks)
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9a.
b.
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Explain Equalarm balance for fort


